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STATISTICS

~ ( Honours )

( Linear Models, Regressiqn and Opératiom.-,
Research, Design of Experiments )
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AMarks : 56
Time : 3 hours
The figures in the margin indicate full marks
. for the questions '

Answer five questions, taking one
from each Unit

UNIT—1

terms ‘estimable parametric
eerror function’ and ‘best
estimator’.

1. (g Explain the
‘ funCﬁOH’:
linear unbiased

the assumptions, write down

(b) Stating all the -
the Gauss-Markov linear model.
(o State the Gauss-Markov theorem.
- 6+4+2=12
( Turn Over )
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(b)

(2)

Prove; _ the necessary and sufficient

cor%dmon for a parametric function to be

Z?nﬂiable and that for a linear function
variable to belong to error.

for;iij;wnfnormal equation in matrix
mode] anc? ha Gausstarkov linear
€stimate of t}f nce obtain least squar®
€ parameter vector.
6-|w(4-+2)=12

X
1
Symbols g
ha
7€ their usyal meanings 2+97) 1
-1
( 3+3+5
a
) Correlation ratio
h
(b) CorrelatiOn ol
e
@ Vig
lati.on
;:-lonce = Usual assumptlon
omose dastic;tl;l ity, co-linearity 2"
8D/380 egression mo
u@d

(38)

UNIT—III

5. Give the complete analysis of a two-way
classified data with m observations per cell
stating clearly the mathematical model,
assumptions used, hypothesis to be tested,
test statistic to be used along with ANOVA

table. 11

6. (a) Write notes on :
(i) Factorial experiment
(i) Complete and partial confounding
(ai) Different main effects and
interaction effects in a 23-factorial
experiment
brief about analysis of
covariance mentioning the
mathematical model for one-way
classification with a single concomitant
variable in CRD. (2+3+2)+4=11

(b) Write in

unNIT—IV

7. What do You understand by linear
programming problem? Wh.at are the
conditions that need to be satisfied to solve
linear = programming problem for
optirnization? Write the assumptions of
linear programming fprobllezzil ar;dLPPthe
i or the formulation o ]
different steps fi PBRSE

Turn O
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(4)

. amming
8. (a) State general linear Prog:erms :
problem. Define the following

() Solution of LPP
(ii) Feasible solution

(i) Basic feasible solution

(iv) Basic solution

(v) Optimum feasible solution
(b)

Write g note ¢

d of
n graphical metho
‘Solution of LPp

s LPP.
and application °f( 3+5)+3

UNIT—y
_ e
% What jq tl'anspm'tation problem? Gl.ve
o hematic formulation of it. Wrte tion
differen; ste to  solve tranSportaan 4
Pl‘oblem by (a, North-west corner ru135+3*3
(b) Vogel’s apPI‘OXimation method.

10,

d g%
Xlsnte - note on assignment problem an

the
. ite
i lation. Wri by
Ugorithy, 4, ormula roblem
. Solve an assignment p 3+3
urlganan Methgq, ~
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